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Correction of First Term English Examination
MASTERI

GRHI/GRHII/CLI \ Lk

L@ ﬁg‘l‘éiil(}‘!

04pts

Exercise 01

1. TRUE
2. FALSE/

3. FALSE/

person who promises to reimburse.
4. TRUE

The manager may have the power to hire, fire or promote the employees.

The insured is the person who receives the payment // An insurer is the company or

1) A: Automated / T:Teller / M:Machine
2) An Initial Investment

) o et 4 it T s
Assets = pLiabiiies ; Owner's Ea,is_uly

4) Bank Card

02pts

Mission
Bank Balance

. Political Si

Policy

i !Q [

o

04pts

Exercise 04

[

din 9 N
1
T - ~x

[

03pts

Exercise 05

Salaries / Bonuses / Workplaces / Legislation / Equal / Increase / Lac
/ Connected / Lea / Causes / Solution / Found

]

s

03pts

LH

xercise 06
A.

1. Isbeing
2. Works
3. Seems

pranh
@

Much
. A fe‘vv

Many

w b

4]
o

waerd.



Batna University W
Faculty of Economics, Trading and Management Sciences E“D :
Department of Economics b
MASTER I WL
GRHI/GRHII/CLI — — —
First Term English Examination Full Name : .
Time Allowed: 1h30 )
Group: ....ooooenin
Mark:......oooevennnnn /20
Exercise 01: _ 3 r ven... [G4pts

Read the following statements. If the statement is true, circle the word True. If the statement is false,
circle the word@. JUSTIFY the false ones.

ney borrowed by a
J J

ness i loan is an amount L‘i mo

business. TRUE / FALSE

3. The insured is the company or person who promises to reimburse. TRUE FALSE

4. The main reason of accountmg is to be able to produce ﬁnan01al statements. TRUE / FALSE

.............................................................................................

Exercise02: e /0dpts

Answer the following questions:

1) In banking, what does “ATM” stand for?
. S —— ; iy JP P ——— ., LN CUNR R —
2) The money a business owner needs to start up a firm ( It may include the owner's own money or

ine
money borrowed from a variety of other sources ) is called:

................................................

4) Another way to say “Deblt Card” is:

................................................

Exereise Dl 0 - L L e e e L e e R /02pts

Select the most appropriate word for the gaps:

1. In the formation of the business policy, the ..o, of the business is the most
obvious purpose.
a. Objective b. Vision ¢. Mission
2. ThC ooovvoeeiisiiiessinesenn .. is the amount of money in a bank account.
a. Bank Statement b. Bank Balance ¢. Bank Card
3. Inmanagement, .............................. skills are used to build a power base and to establish

R T T
CONNecisois.

a. Technical Skills b. Political Skills c. Conceptual Skills
4. In insurance, the insurance ...............c..cooeenenne. is a contract.
a. Policy b. Premium ¢. Transaction
Page 1/2



EsaromeBd: o\ 0 compmi s N T e RS /04pts

Match each statement with its corresponding definition:
1. Business Policy. a. Refers to the coordinated plan of action it
takes and resources it uses to realize its
B ‘ et 1 vision and long-term objectives.
2. Statement of Retained Earnings. | ~ =7
2_ b. Is a guide that provides rules, regulations
) and objectives, and may be used in the
- , g
3. Business Strategy. - managers' decision-making.
4—...
¢. Is a statement that tells how much money
4. Income Statement. was made or lost in a given time period.

d. Is a statement that tells how much money
that was made was reinvested into the
company.

Exercise 05: e /03pts

Fill in the blanks in the paragraph below with one of the following ap, yropriate words:

INCREASE BONUSES LACK PAY LEAVE WORKPLACES SALARIES SENIOR
CAUSES EQUAL FOUND CONNECTED LEGISLATION SOLUTION

A report has revealed that men are paid higher.................... and receive BIBEET ... is sssmmwums vess than
women. The gender pay gap still exists in companies and .................... in many countries,
AEBPITE. onussss sanpommuns 10 BDISHULE. ... oimiivis 4 53 svninss pay.

What are the causes? Some people believe that women are more hesitant in asking for a

xistand a.....ooiiiiiiiiian 28

Exercise®6: e /03pts

A. Fill the gaps with the correct form of the verb. (Present Simple or Present Continious)

1. Our client (be) very stubborn at the moment.

(X2

. My father

electronics, computer software, and online services.

3. The business card’s design (seem) good. However, try to come up with
something more creative.
B. Put “much”, “many”, “a little” or “a few” into these sentences.
i. Lily doesn't earn money.
2. Could I make suggestions concerning the design of the packaging?
3. There are too women in the economics profession.

Good tuck
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